LV.A-70
LV.A-70-AS

ELESA J& 4% it

AF R B4

- WA e B R B EPA) BRSO EADR R, TR, b,
A Rt A

- AERES, EXWE,

- WHRNAE T RIEN,

- LVARL: R B 5 o9 KR R B

- LVA-ASHL: ANBRIEALT0 B KA BAR AFE B A, M fa,
FHRNEEMGRARERRTRREE, WLEAZEE A wEH, BF
FESSEARTHERT, REQDHIAL,

- HHWFR (R, £2LE5121),

e O T

g iy B g B iy

-

Sy iy, i By oy

iy ey .y

R i
EEETPFFFEE i s
T

T ¥
et

F
4
T
¥
3
&
i
4
i
4
i
l~\."__,.-_--.

i
i

TR AT WA B AT, S22 KA,

KFRBEHHRCRBEN A T ZRMFRE T E, ZBHFFL %
e BTl AR, R EE, TR EXE, KREMERE P,

ACFREHT DEBBVVRE, €& F0REmAFRES, £F
Re ks AEFLEnREE, FEESFE, WEALTATFENRT

e E i,
d
' (——
(1T
|
- “iiﬂ”"iﬁ"ﬁ\f5 °
\RET
5| - s Il I
IR S B % o = —
L D
AR AR O =R i | By |#F | LFF | =8
KA i 5 55 8 S D L Lig I d | Y, s [N] g git
304005 | LV.A-70-14-M8x43 308005| LVA-70-14-AS-M8x43 71 74 M8 43 60 80
304011 | LV.A-70-14-M8x68 308011 | LV A-70-14-AS-M8x68 70 o6 99 28| M8 68 14 14 14000 72 92
304021 | LVA-70-14-M10x43 | 308021 LVA-70-14-AS-M10x43 71 74 M10 43 69 89
304025| LVA-70-14-M10x68 | 308025| LVA-70-14-ASM10x68 | 70 96 99 28 | M10 68 14 14 14000 81 101
304031| LVA-70-14-M10x08 | 308031 LVA-70-14-AS-M10x98 126 129 M10 98 95 115
304061 | LVA-70-14-M12x43 | 308061 LVA-70-14-AS-M12x43 71 74 M12 43 79 99
304065 | LVA-70-14-M12x68 | 308065| LVA-70-14-ASM12x68 | 70 96 99 28 | M12 68 14 14 14000 9% 116
304071| LVA70-14-M12x08 | 308071| LV.A-70-14-AS-M12x98 126 129 M12 98 117 137
304101 | LV.A-70-14-M16x68 | 308101 LV.A-70-14-AS-M16x68 %6 99 M16 68 140 160
304105| LVA-70-14-M16x108 | 308105| LV A-70-14-AS-M16x108 136 139 M16 108 192 212
304111 | LVA-70-14-M16x148 | 308111 | LVA-70-14-ASM16x148 | O 176 179 28 | m16 148 14 16 14000 244 264
304115 | LVA-70-14-M16x168 | 308115 | LVA-70-14-AS-M16x168 196 199 M16 168 270 290
*"ﬁiﬁ%ﬁ%"%ﬁﬁ%%ﬁﬁ%ﬁT,ﬁmﬁﬁﬁﬁi%ﬁ%ﬁ,ﬂ%%ﬂﬁﬁﬂ%%ﬁﬁ
# k2% T A BUE,

“ELESA" and "GANTERGRIFF” models all rights reserved in accordance with the law. Always mention the source
when reproducing our drawings.

& (elesa+BANTER




